il
W
St
%
I

1. THE4
TH4 SEN) | [3n] i N HERE RO T
T4 (B) FJiE B 7= > 0 T4 [ T B 55175 b 2
(E) EERZHSOHHE I I F L
2. THEHNE
1)  HEI4 MR EE BT LS HE—F
2) £ I & | T
3) T #H 140 H ¥ H &0 64E11H 12H
= Fn T4 3H3LA
4) TEyE

-1- SR s KR S W )




[ (B) Se 7= -2 o0 i BT s iR 1 e

B
T
iy
i
I

T4 | TR AE N HERE St T3
= S N O A | B Az ¥ = & #A #m il N BN
s e = 1 46, 329, 650
e i =Y 1 44, 577, 230
PRI T (1ICT) m3 7, 400 2,308,430 |#&H (1CT) 1 =
+He A7 by FEEHE L 5, 000m3L4 10, 000m3
Al ;
PEH! 1 =
+wp A7 by b FR LM REEEME 5, 000m3LL E10,
000m3 AT ;
AL T =Y 1 42, 268,800 | LHbAEENR 1 =X
RIEY -
e YUY 1 F2V
RIEY
A Y 1 1, 752, 420
TEHERKT Y 1 604, 770 | L2 HE K1 1 2V
4. 0mPA b ; FEA, EE AT
T HE R R 1 F2V
; PHHE SR, LB E T
be il 1 2V
BTy RC-40 t=100 ;
T5VEBE Ik T = 1 734,400 |{5¥EBE 1T /% 1 =
BRIE B AR BEE D
AEEHE T Y 1 413,250 |22 ELEE 1 =
BT EEHEB ;
[ERAE Xy = 1 46, 329, 650
IR 2 1 2,354, 317
BISTI S = 1 804, 317
HeffrE sy = 1 615,317 |{R5FEHR(ICT) 1 =
Y AT L) H 2 (ICT) 1 =
-1~ E @y TS R




[ (B) Se 7= -2 o0 i BT s iR 1 e

R PERE
T4 | SEAW) I E P HERS bR
THEXSy - THE - FE5 H7 & & # i Gl 2 N

BUGBREIUEL (REH L) 2V 1 189, 000
sty (R L) 2V 1 1, 550, 000
ol T 2V 1 48, 683, 967
e R E20 1 6, 393, 000
T AT 2V 1 125, 409, 478
— e PR E20 1 12, 500, 522
N E20 1 137, 910, 000

-2 - SR ST KR S W )




[ (B) Se 7= -2 o0 i BT s iR 1 e

B
T
iy
i
I

T4 | TR AE N HERE St T3
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
s e = 1 14, 103, 988
e i =Y 1 9, 006, 350
A T m3 1, 500 473,100 | HRH! 1 =
W A7 vhyb PRI BEEME 5, 000m3AH ;
AL T =Y 1 8,533,250 | LHbAEIENR 1 =X
RIEY -
e YUY 1 F2V
RIEY
A Y 1 5,097, 638
TEHERKT Y 1 2,896,038 | T3 HIEKK 1 1 2V
4.0mPA E ; FEA, EE AT
T HE R 1 F2V
; PHHE EWE, LB E T
be il 1 F2V
HAEIT9v477 RC-40 t=100 ;
T5VEBE Ik T = 1 1,973,600 |{5EBL1LET <% 1 =
BRE - () AR gEE D
AEEHE T Y 1 228,000 |22 ELEE 1 =
BT EEHEB ;
[ERAE Xy = 1 14, 103, 988
IR 2 1 955, 000
HiE R = 1 108, 000
BGRESCGES (5 1) = 1 108, 000
B (FEHL) = 1 847, 000
T = 1 15, 058, 988
-3 - E @y TS R




[ (B) Se 7= -2 o0 i BT s iR 1 e

FEF AR
T4 | SEAW) I E P HERS bR
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e R E20 1 3, 478, 000
T AT 2V 1 18, 536, 988

U R R




[ (B) Se 7= -2 o0 i BT s iR 1 e

Vol =
FER N E
Tk | SEAE) T PN HERE R s T
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
FLLt - =X 1 36, 461, 623
LT = 1 9,657, 575
HRHEI T m3 70 22,078 | R 1 =
/Y A7 iy PR PEEME 5, 000m3ATH ;
BET m3 1, 000 8,624, 020 | &M (SELE) %+ 1 =
2. 5mAT ;
A5k 1 X
Rkt A = 1 1,011,477 |{EmEEE (& LE0) 2,410 m2
T i S O I BRI
LR L 2 1 4,251, 240
fiA T 2 1 4,251,240 |IEE 2,410 m2
EE T 500m2LA | ;
R T = 1 2,731, 195
ERLL R T = 1 112,565 | REEELIE 958 m2
MEMIEL ;
TA7 7 Ml T X 1 2,618,630 | T/EEsME (HIE - BIE ) 1, 200 m2
BAITyv4T7/ RC-30 41V & 100mm ;
g (I - BIF ) 1,150 m2
AR T A2y (20) AH%E/E 50mm 1. 4mEL £3.0
mPLF ; 7 74ha-bEEe
HEE L = 1 992, 832
T g L T 2 1 815,832 | GHEERLINT 540 m
TAT 7 MEEERR 15emPL T
EhAE AR AR 810 m2
TAT 7V MBEERR SEERRE Sem ; FEIAE T
TR AL T = 1 177,000 | BGEHE 40 m3
TAT 7V
By 40 m3
TAI 7

-5~ SR ST KR S W )




[ (B) Se 7= -2 o0 i BT s iR 1 e

;
T
iy
=
I

T4 | SR T E POHERS LR T

TEHEX Sy - THE - R B {7 % & # il pall 2! R
% T = 18, 828, 781
TR EGEE T [ EMX L | 18,002, 281 | #&H! 1 =
&) T A7 iy R R 5, 000m3AT ;
FEHA O-27) 1 X
+1 850, 000m3AT ;
Jeih (£ HEIH) 1 X
BIL O-27)
KA+ 5 ik 1 X
IR KA R 1 X
$ 250 MmN V2V B v VE
IR KA R 1 X
G450 mEEER V2fv s B v VE
B A S i 1 X
R V2fV R
b 1 =X
+wp CEHR - ERIRY LET) ;
Uz e YU 1 2V
b CEHR - ERIRY LETe) ;
AR IEE BT 2 826,500 | A AL EAH E 1 X
RiEFHEEHEB ;
RN X = 36, 461, 623
HiE =X 4,948,900
Im iR =Y 2, 332, 900
e 2 =X 2,000,900 |3 i3 & 5% 5E W - L5y 1 X
RIRY +
DGRESESE (K5 L) =X 332, 000
m R (FE L) =X 2,616, 000
-6 - E2RRiEg s i S




[ (B) Se 7= -2 o0 i BT s iR 1 e

FEF AR
T4 | SEAW) I E P HERS bR
THEXSy - THE - FE5 H7 & & # i Gl 2 N
ol T 2V 1 41, 410, 523
e R E20 1 10, 385, 000
T AT 2V 1 51,795, 523

U R R




